
















Grade 4 Item Block: 2003-4M10 No. 8:

M=2
K=6

L=3

8. What is K + L – M?

A) 1
B) 5
C) 7
D) 11



Grade 4 Block: 2003-4M6 No. 8

8. Peter wrote down a pattern of A’s and B’s that repeats in groups 

of 3. Here is the beginning of his pattern with some of the letters 

erased.  Fill in the missing letters.

A B A B .



Grade 8 Item Block: 1990-8M9 No. 8:

(2,5), (4,9), (6,13)

Which of the following describes what to do

to the first number in each ordered pair

shown above to obtain the corresponding

second number?

A) Add 3

B) Subtract 3

C) Multiply by 2

D) Multiply by 2 and subtract 1

E) Multiply by 2 and add 1






































